SS 11 – The Post War World (1946 – 1980)
The End of the Cold War

How did the Cold War end?

· Communism collapsed in the Soviet Union.
There were certain events that led to the collapse of Communism in the USSR.

Events

Détente – Relaxation of tension

· Tensions eased between the US and the USSR from 1960 to 1979.

Accomplishments of Détente:

a) Nuclear Non-Proliferation Treaty

· 1968 – US, USSR and Great Britain signed this treaty which limited the spread of nuclear weapons.

· By 1975, 93 other countries joined this agreement.

b) Strategic Arms Limitations Talks (SALT)

· 1972 – First SALT treaty (SALT I) stated that the US and the USSR would limit the spread of certain missiles.

c) Helsinki Accords

· In 1975, the US and USSR met in Helsinki, Finland and agreed to the following:


   i) To accept the division of Germany and the existing boundaries in Europe.


   ii) USSR agreed to respect human rights.


   iii) Make possible easier movement of people across borders.



The Cold War heats up again
After détente, the Cold War heated up again with the Soviet invasion of Afghanistan in the 1980’s and a renewal of the arms race.

Soviet invasion of Afghanistan

· Soviet installed a new dictator as President of Afghanistan.

· The West feared the Soviet wanted to take control of the Persian Gulf, an area vital for oil shipping.

· As a result, the US and other countries boycotted the Moscow Olympic in 1980.

· 1980 to 1988 – Violent war in Afghanistan.

· 1988 – USSR withdraws from Afghanistan because of problems at home.

Problems with the Soviet System:

1) Economy

· During the 1970’s and 80’s the Soviet economy could not provide enough food for its citizens.

· Consumer goods were poor quality.

· Low economic growth.

· Why? Too much military spending.
2) Corruption

· Many communist politicians lived a privileged life and did not want to see change in society.

3) Ideology

· By the 1970’s, economic failure of the communist system made people question the beliefs of communism and many turned to capitalism.

4) Nationalism

· 50% of the population in the Soviet Union was not Russian.

· People were not happy with the Soviet system; they began to think of independence from the Soviet Union.

Who was responsible for the collapse of communism in the Soviet Union?

Michael Gorbachev

· Became leader of the USSR in 1985.

· Wanted to reform communism.

· Wanted to get rid of corruption in government.

· Came up with a series of sweeping economic, political, and social reforms that would help communist countries run more efficiently and create better conditions for their citizens.

Gorbachev’s Policies:

1) Glasnost, 1986

· Means “openness.”

· Gorbachev encouraged open debate about the issues facing the USSR.

· This was the first time a communist/Soviet leader asked for opinions from the citizens of the Soviet Union.

2) Perestroika, 1987

· Means “reconstruction.”

· Gorbachev wanted economic reforms and better standard of living for the USSR population.

Collapse of the Soviet Union

· Because of Gorbachev’s policies, people of the Soviet Union began to experience a newfound freedom.

· However, many people in the USSR were very poor.

· Many non-Russians in the Soviet Union sought independence from the Soviet Union which led to the collapse of the Soviet Union.

End of the Soviet Union – December, 1991

· Soviet Union split into 15 smaller independent nations including Poland, Hungary, East Germany, Czechoslovakia, Romania and Yugoslavia.

· The Soviet Union collapsed.

End of the Cold War

· 1989 – The Berlin Wall was demolished.

· 1991 – Soviet Union collapsed.

